
SAS C
arr

e-L
utz

https://carre-lutz.com/acatalog/Pieces-detachees-pour-appareils-Invicta-p1.html
https://clpieces.com/pi%C3%A8ces-detach%C3%A9es-pour-appareil-de-chauffage-invicta


Poêle SIAM Référence: P917044 

 
 

 

Rep Nbr Désignation Référence 

  JOINT FACADE PORTE Ø8 mm Lg 2 ,60 m AI303008 

  JOINT VITRAGE Lg 2,00 m AI302001 

  JOINT TAQUE Ø8 mm Lg 1 ,20 m AI303008 

1 4 TIRANT AS610157 

2 1 MENTONNET AS610199 

3 1 ENTRETOISE POIGNEE AS650110 

4 3 CLAMS AS700262 

5 1 REGISTRE AIR SECONDAIRE AT610115 

6 1 TOLE REGISTRE AT610457 

7 1 CENDRIER AT620366 

8 4 RONDELLE M M06 BRUT AV4100060 

9 2 RONDELLE L M6 BRUT AV4110060 

10 1 RONDELLE ONDULEE D8 AV4170081 

11 2 GOUPILLE CANNELEE 5X30 AV6305300 

12 5 ECROU SECURITE M6 AV7040060 

13 8 ECROU EMBASE M6 BRUT AV7220060 

14 1 VAM FHC M6X20  BRUT AV8636200 

15 2 VAM FHC M6X25 INOX AV8636256 

16 2 VAM FHC M6X30 BRUT AV8636300 

17 3 VAM TCPZ M4X6 ZN AV8644067 

18 1 GOUJON 6X8 AV8706080 

19 4 GOUJON 6X30 AV8706300 

20 1 VITRE AX917044 

21 1 POIGNEE F610567U 

22 1 SOCLE F612640B 

23 1 FACADE F612641U 

24 1 GUIDE-AIR F612642B 

25 1 PORTE F612643U 

26 1 FOND F612644B 

27 2 COTE F612645B 

28 1 DESSUS F612646B 

29 1 TAQUE F612647B 

30 1 DEFLECTEUR F612648B 

31 1 CHENET F612649B 

32 2 GRILLE-FOYERE F612650B 

SAS C
arr

e-L
utz


